1518b-1c-ethipd4ipsec4tnlsn 0.3 0.0 0.7 0.0 +156.8 1.2
1518b-1c-ethip4ipsecl0000t 0.3 £ 0.0 0.7 £ 0.0 +150.4 + 1.3
imix-lc-ethipdipsecdtnlsw- 0.7 £ 0.0 1.7 £ 0.0 +138.0 £ 0.7
imix-lc-ethipd4ipsecl1000tnl 0.7 £ 0.0 1.6 £ 0.0 +132.1 £ 1.0
imix-lc-ethipdipsecl10000tr 0.7 £ 0.0 1.5 £ 0.0 +124.7 £ 1.6
1518b-1c-ethip4ipsec4tnlsw 0.8 £ 0.0 1.5 £ 0.0 +94.7 =+ 1.5
imix-lc-ethipdipsecdtnlsw- 3.5 £ 0.0 6.8 £ 0.0 +92.0 =+ 0.7
imix-lc-ethip4ipsecl1000tnl 3.0 £ 0.0 5.7 £ 0.0 +87.2 =+ 1.8
imix-lc-ethipdipsecdtnlsw- 1.9 £ 0.0 3.4 £ 0.0 +81.8 + 1.1
imix-lc-ethipdipsecdtnlsw- 1.7 £ 0.0 3.1 £ 0.0 +81.6 = 1.1
imix-lc-ethip4ipsecl1000tnl 1.5 £ 0.0 2.7 £ 0.0 +81.4 = 1.7
1518b-1c-ethipdipsecl0000t 0.7 £ 0.0 1.2 £ 0.0 +78.3 £ 1.9


https://plot.ly/

